

Download PDF

Citation Tools

Journal Info

You are not currently logged in.

Access your personal account or get JSTOR access through your library or other institution:

Login (/Action/ShowLogin? RedirectUri=%2Fstable%2F4145271%3Forigin%3Dcrossref%26loginSuccess=True)

Log in to your personal account or through your institution. (/action/showLogin? redirectUri=%2Fstable%2F4145271%3Forigin%3Dcrossref%26loginSuccess=true)

[« Previous Item \(/stable/4145270\)](#) | [Next Item » \(/stable/4145272\)](#)

[Article](#)

[Thumbnails](#)

[References](#)

Viewing page 432 of pages 432-434

PREVIEW

Download (\$12.00)

Read Online FREE

A Short Proof of the Explicit Formula for Bernoulli Numbers

Grzegorz Rządowski

In the present note we give an easy proof of the explicit formula for the Bernoulli numbers

$$B_{n+1} = \frac{(-1)^{n+1}(n+1)}{2^{n+1}-1} \sum_{k=1}^{n+1} \frac{1}{2^k} \sum_{j=0}^{k-1} (-1)^j \binom{k-1}{j} (j+1)^n. \quad (1)$$

As Gould pointed out in his survey article [2], formula (1) appeared for the first time

As Gould pointed out in his survey article [2], formula (1) appeared for the first time in [3]. Garabedian [1] rediscovered (1) and proved it by using Cesaro sums.

We introduce the set $\{a_{n,k}\}$ of integers given by

$$a_{n,k} = (-1)^n \sum_{j=0}^{k-1} (-1)^j \binom{k-1}{j} (j+1)^n$$

for $n = 0, 1, 2, \dots$ and $k = 1, 2, 3, \dots$. The numbers $a_{n,k}$ can be expressed in terms of finite differences. By the m th difference of a function $g(x)$ we mean the quantity

$$\Delta^m g(x) = \sum_{j=0}^m \binom{m}{j} (-1)^{m-j} g(x+j) \quad (m = 0, 1, 2, \dots),$$

and it is easily seen that $a_{n,k} = (-1)^{n+k-1} \Delta^{k-1} g(x)$ for $g(x) = x^n$ and $x = 1$.

Lemma 1. *The numbers $a_{n,k}$ satisfy the recurrence formula*

$$ka_{n,k} - (k+1)a_{n,k+1} = a_{n+1,k+1}. \quad (2)$$

Proof. We compute:

$$\begin{aligned} ka_{n,k} - (k+1)a_{n,k+1} &= (-1)^n k \sum_{j=0}^{k-1} (-1)^j \binom{k-1}{j} (j+1)^n \\ &\quad - (-1)^n (k+1) \sum_{j=0}^k (-1)^j \binom{k}{j} (j+1)^n \\ &= (-1)^{n+1} \sum_{j=0}^{k-1} (-1)^j \left[(k+1) \binom{k}{j} - k \binom{k-1}{j} \right] (j+1)^n \\ &\quad + (-1)^{n+1} (k+1) (-1)^k \binom{k}{k} (k+1)^n \\ &= (-1)^{n+1} \sum_{j=0}^k (-1)^j \binom{k}{j} (j+1)^{n+1} = a_{n+1,k+1}. \end{aligned}$$

JSTOR is part of ITHAKA, a not-for-profit organization helping the academic community use digital technologies to preserve the scholarly record and to advance research and teaching in sustainable ways.

©2000-2015 ITHAKA. All Rights Reserved. JSTOR®, the JSTOR logo, JPASS®, and ITHAKA® are registered trademarks of ITHAKA.